3.3um CCTV Lens / %#%3.3 y m&ThICCTVEE L

VS-VM Series
2/3"

[ VS-VMZ&7FI ]

BTN 3.3umikiT, EHtEEXLEECCTVE:L
EIE6MM~50mm, 7Sl A Atk
¥BFNO1.8, MEiRit

17.526

2-M1.7 Lock screw 4.8

2-M1.7 Lock screw

$29.5
$28 005
Pl

$29.5
$2850s

$16.5

|p166

e b

N\_C-mount

X JEEEHEOIR © SV-FAD28-305

VS-0620VM

39 17.526, 38.5 17.526,
2-M2 Lock screw 4 4
3.2
o]
o) S|
b L I e
o £ G H-— =
3| g ° T s

I
C-mount

2-M2 Lock screw

37.5 17. 526,
4
2
[y
=
& B
o~ ©
<1 I~ i 8 H__1 =
o = <
C-mount

2-M2 Lock screw

8VM
39.5 17.526, 29 17.526 13.5 17.526_
4 4
4
22 2.9 *T
- o =
by . T o 3 : I
= = g > ] s = |z o
S g Tt I _{ IR 2 5 H 5 ~ 2 g o T 8 —~{
= 4lE o 3 g T 5 g S| 2 .
C-mount p "
| —moun
2-M2 Lock screw Gomount
2-M2 Lock screw 2-M2 Lock screw
VS-5026VM SV-7527V SV-10035V
42 17.526, 43.9 17.526,
39 17.526_,
4 2-M1.7 Logk screw 4 2-M1.7 Lock screw 4
7S i e
S| & T
d g = N o o @ it
g 5 e e 3 s g 28 g
G-mount
2-M2 Lock screw
i SV-03514V SV-04514V V5-0620VM VS-0818VM VS-1218VM VS-1618VM
-] 3.5 mm 4.5 mm 6mm 8mm 12mm 16mm
FNO F1.4 ~ o F1.4 ~ oo F2~o0 F18~0o0 F18~0c0 F18~c0
0 77.8° x 105.9° 59.7°x 79.9° 484°x619" 372°x482° 25°x326° 188°x246°
=EWD 200 mm 200 mm 100 mm 100mm 100mm 100 mm
TVER -14.65 % -8.15% -142% -1.19% 0.19% 0.14%
BIESE Manual (Lock screw M1.7)  Manual(Lock screw M1.7) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
BRI 12" 12" 118 118" 118" 1/18"
BEOE M27 P=05 M27 P=05 M27 P=05 M27 P=05
3 529 549 629 649 60g 589
ik VS-2518VM VS-3518VM VS-5026VM SV-7527V SV-10035V
s 25mm 35mm 50mm 75 mm 100 mm
FNO F18~ o0 F18~ oo F26~ o0 F2.7 ~ o F3.5 ~ oo
=] 121°x159° 11.7°x138° 8.1°x96" 3.6°x4.7° 2.9°x3.8°
ZEJFWD 250mm 250mm 400 mm 1000 mm 1000 mm
TVERE -0.15% -0.12% 0.01% 0.55 % 0.56 %
BIERE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual(Lock screw M1.7) Manual(Lock screw M1.7)
pe=yiay 118" 23" 23" /2" 1/2"
EmOg M27 P=05 M27 P=05 M27 P=05 M30.5 P=0.5 M30.5 P=0.5
58 609 489 549 74g 769




i ER

s

ERER

EEEA (BALmm)
——> MR (- - ER ) ©

3.3um CCTV Lens

VS-VM Series

WD 103 130 ——> T{EEEES
5 13" 14x19 ' 19x25 —> 1/3"CCDIFERE
12" 18x24 | 24x32 —> 1/2"CCDIFER

B2 025¢ 0.20x

v
BINEE (t)

— FEhEE

SV-03514V SV-04514V VS-0620VM VS-0818VM
3.5 f4.5 f6
©~200 ©~200 ©~100
200 200 100 100
98.2x129.1 75.0x98.6
266.7x355.6 218.2x290.9 87.3x116.4 66.7x88.9
200 0x266 7. 163.6x218.2 63.45x87.27 50.0x66.67
0.018x 0.022x 0.055x 0.072x

635 | 327

1197 471

66.7x87.7 | 39.7x52.2

88.5x116.4 | 40.6x53.4

59.3x79.0 | 35.3x47.1

78.7x104.9 | 36.1x48.1

0.081x ' 0.136x

0.061x | 0.133x

VS-1218VM VS-1618VM VS-2518VM VS-3518VM VS-5026VM SV-7527V SV-10035V
f12 16 125 50 f75
00~100 00 ~100 00 ~250 ) 20 ~1000
100 100 250 400 1000
o NE 50.9x67.0 36.0x47.3 55.7x73.2 38.6x50.7 39.4x51.8 60.0x80.0 48.0x64.0
172" 45.3x60.4 32.0x42.7 49.5x66.0 34.3x45.7 35.0x46.7 45.0x60.0 36.0x48.0
&% 0.106x 0.150x 0.097x 0.140x 0.137x 0.080x 0.100x
WD 2830 ' 681 5180 | 816 12570 | 2056 24831 | 2267 50342 | 3750 | |
05 118" 1317x1732 ‘ 36.7x48.3  174.2x229.0 ' 30.0x39.4  270.0x355.0 ' 46.6x612  385.7x507.1 35.1x46.1  540.0x710.0 ' 36.7x48.3 ! !
172" 117.1x166.1 | 32.7x435  154.8x2065, 26.7x35.6  240.0x320.0, 41.4x55.2  342.9x457.1] 31.2x41.6  480.0x6400 | 32.7x435 | |
fEE 004X 04147x 0.031x | 0.180x 0.020x | 0.116x 0.014x | 0.154x 0.010x | 0.147x i i
WD 1340 | 500 2587 | 683 6381 | 1734 11993 | 207.9 25346 | 3534 : :
, 18" 659x866 | 287x378  885x1164 | 25.6x336  1385x1821, 397x522  1862x2448 321x423  270.0x3550 | 34.4x452 0 0
172" 585x780 | 255x340  787x1049 | 227x303  123.1x164.1 ' 35.3x47.1 165.5x2207 28.6x38.1  240.0x320.0 | 30.6x40.8 ] g
fg=  0082x | 0.188x 0.061x | 0.211x 0.039x | 0.136x 0.029x |  0.168x 0.020x | 0.157x i i
WD 843 | 383 1685 | 586 4173 | 1495 8091 | 1909 17014 1 3343 41658 | 8203 !
15 V18 439x577 | 236x31.0  587x77.2 | 224x295  915x120.3 | 346x455  125.6x165.1' 205x388  180.0x236.7 | 32.3x425 2400x3200 46.2x615 .
172" 39.0x52.0 | 21.0x27.9  522x69.6 | 19.9x26.6  814x1085 | 30.8x41.0  111.6x148.8 262x350 160.0x2133 | 28.7x38.3 18002400 1 34.6x46.2 i
fEk  0123x | 0229 0.092x | 0241x 0.059x | 0.156x 0043x | 0.183x 0030x | 0.167x 0020x | 0104x !
WD 595 | 302 1248 | 509 3082 | 1318 600.1 | 1774 12848 | 3174 31854 | 7770 50163 | 8455
, 18 329x433 | 200x263  443x582 | 19.9x26.1 68.4x89.9 | 30.9x40.6 93.1x122.4| 27.4x36.0  135.0x177.5 | 30.5x40.1 1B46x2462 | 42.9%57.1 VBOGLS | 37.2x496
172" 29.3x39.0 | 17.8x237  39.3x525 | 17.6x235 60.8x81.0 ! 27.4x 36.6 828x110.3' 24.4x325  120.0x160.0 ! 27.1x36.2 1385x1846 | 32.1x429 Mass | 27.9x37.2
fE  0164x | 0270x 0122x | 0272x 0079x | 0.175x 0.058x | 0.197x 0.040x | 0.177x 0026x | 0112« 0021x | 0129x
WD | i 1156 | 733 2423 1 1238 5349 1 2459 14205 | 607.8 22681 | 7121
5 e ‘ ; 27.4x360 | 18.4x24.2 37.5x49.3i 19.1x25.1  54.0x71.0 ‘ 22.8x30.0 738x985 ' 30.2x403 23131 | 27.6x368
172" ; | 24.4x325 | 16.4x21.8 33.3x444 | 17.0x226  48.0x64.0 | 20.3x27.0 554x738 | 22.6x30.2 60.2x923 | 207x27.6
g i ! 0.197x ! 0.293x 0.144x ! 0.283x 0.100x ! 0.237x 0.065x | 0.159x 0.052x | 0.174x
WD : 51.1 385 121.7 82.4 284.9 183.3 8322 | 4754 13521 | 5957
0 118 : | 13.7x18.0 | 11.0x145 188x247 | 126x166  27.0x35.5 | 16.0x21.1 36.9x49.2 | 20.2x269 462615 | 19.4x259
170" | ! 122x16.2 | 9.8x13.1 167x22.2 | 112x160  24.0x320 | 14.2x19.0 27.7x369 | 15.1x202 346x462 | 146x194
&% : | 0394x | 0.490x 0.288x | 0.427x 0200x | 0.337x 0130x | 0238 0104 | 0247
WD ; } ' 815 61.9 201.6 1 1494 6361 | 4090 10468 | 532.7
5 8 | : . 12.5x16.43 95x124  18.0x23.7 ‘ 12.4x16.2 245x32.7 15.1x20.2 30.6x408 ‘ 15.0x19.9
172" ! | i 11.1x14.8 | 8.4x11.2 16.0x21.3 | 11.0x14.6 184x245 | 114x15.1 229x306 | 11.2x15.0
e ! ! ! 0432x | 0571x 0300x | 0437x 019x | 0317x 0157 | 0321x
T ; ! g 613 | 496 1599 | 1281 5381 | 3691 8941 | 4933
50 M8 94x123 | 7.6x99  135x178 | 10x132 85 | 2062 230606 | 122x162
172" ! : d 83x11.1 | 6.7x9.0 12.0x16.0 | 8.9x11.9 138x184 | 91x12.1 172x230 | 9.1x122
fE= | | | 0.576x | 0.715x 0.400x | 0.537x 0.261x | 0.39x 0.209x | 0.395x
WD ; : : 493 1 415 1349 1 1134 4792 | 3425 8025 | 4663
5 1NE ! 7.5x9.9 6.3x8.3 10.8x14.2 8.5x11.1 147x196 | 101x135 1B4245 | 103137
172" | | i 67x89 | 56x7.5 9.6x128 | 7.5x10.0 11.0x147 | 7.6x10.1 138x184 | 7.7x103
fEk | : ! 0.719x | 0.859x 0.500x | 0.637x 0.326x | 0.474x 0.261x i 0.468x
) ! i | /03 | 357 1183 | 1028 400 | 3234 w4 w66
50 118 : ! ! 63x82 | 54x7.1 9.0x118 | 7.3x96 123164 | 87116 153x204 | 8.9x11.8
172" : i 0 56x74 | 4.8x6.4 80x10.7 | 65x8.7 92x123 | 65x87 115x153 | 6.6x89
ik ! | ' 0.863x |  1.003x 0.600x | 0.737x 0391x | 0553 0313x | 0542
WD ! 1 ! 35 | 313 1064 | 947 4120 | 3001 678 | 4316
. 11.8" ; ; : 5.4x7.1 1 4.7x6.2 7.7x10.1 1 6.5x8.5 105x140 | 7.6x10.1 13175 | 7.8x104
172" | | : 48x64 | 42x5.6 69x91 | 57x7.6 79x105 | 57x7.6 98x131 | 5878
fak ! ! ' 1.007x | 1.147x 0700x ! 0.837x 0456x | 0.632x 0366x | 0616x
WD ! I | | 975 | 883 3910 | 2980 6651 | 4198
0 18 | ! : ! 6889 | 5876 92123 | 6800 1553 | 7003
172" ! | | | 6.0x8.0 | b5.1x6.8 69x92 1 5.1x6.8 86x115 ! 5.2x7.0
e ! ; | | 0.800x | 0.937x 0522x | 0711x 0418 | 0690x
WD ; ! ! ! 905 | 832 3747 | 2891 6396 1 4103
P 1 ! ' 1 6.0x7.9 | 5.2x6.8 82x109 | 6.1x81 102136 | 63x84
2 : ! ! ! 5371 1 46x62 61x82 | 46x6.1 77x102 | 47x63
xR : ! 0 [ 0.900x | 1.037x 0587x | 0.790x 0470x | 0.763x
WD | ; ; | 850 | 789 3616 | 28138 6193 | 4025
5o 18 : ! ' ! 54x7.1 | 47x6.2 74x98 | 55x74 02123 | 5316
172" | | | | 48x64 | 4.2x5.6 55x74 | 41x55 6992 | 4367
. T ! . | 1000x 1 1.137x 0652x | 0.869x 0522x | 0837x






